# RECEIVED KANSAS CORPORATION COMMISSION MAY 1 7 2006

KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

## ORIGINAL

Form ACO-1 September 1999 Form Must Be Typed

### CONSERVATION DIVISION WICHITA, KS

#### WELL COMPLETION FORM WELL HISTORY – DESCRIPTION OF WELL & LEASE

CONFIDENTIAL

Operator: License # 3882	API No. 15 - 15-053-21174-0000
Name: SAMUEL GARY JR. & ASSOCIATES, INC.	County: ELLSWORTH
Address: 1670 BROADWAY, SUITE 3300	~ E/2 NW NW Sec. 27 Twp. 17 S. R. 10 ☐ East 🛭 West
Dity/State/Zip: DENVER, CO 80202-4838 MAY 1 5 2005	675 feet from NORTH Line of Section
Purchaser: CONFIDENTIAL	feet from WEST Line of Section
Deperator Contact Person:TOM FERTAL	Footages Calculated from Nearest Outside Section Corner:
Phone: (303) 831-4673	(circle one) NE SE NW SW
Contractor: Name: PETROMARK DRILLING	Lease Name: SCHEPMANN-TRUST Well #: 1-27
icense: 33323	Field Name: WILDCAT
Vellsite Geologist: JUSTIN CARTER	Producing Formation:
Designate Type of Completion:	Elevation: Ground: 1834' Kelly Bushing: 1840'
X New Well Re-Entry Workover	Total Depth: 3426' Plug Back Total Depth:
OilSWDSIOWTemp Abd.	Amount of Surface Pipe Set and Cemented at 424 Feet
Gas ENHR SIGW	Multiple State Cementing Collar Used? ☐ Yes ☑ No
X Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth set Feet
Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	feet depth tow/sx cmt.
Vell Name:	
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan ALT I P&A WHM
Deepening Re-perf. Conv. to Enhr./SWD	(Data must be collected from the Reserve Pit) 6-8-07
Plug Back Plug Back Total Depth	Chloride content ppm Fluid volume bbls
Commingled Docket No	Dewatering method used
Dual Completion	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No.	Operator Name:
	Lease Name: License No.:
1/29/2006 2/3/2006 2/4/2006	Quarter Sec Twp S. R 🗀 East 🗆 West
pud Date or Date Reached TD Completion Date or Recompletion Date	County: Docket No.:
recompletion bate	
Kansas 67202, within 120 days of the spud date, recompletion, workoven formation on side two of this form will be held confidential for a period of	with the Kansas Corporation Commission, 130 South Market-Room 2078, Wichita, er or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 12 months if requested in writing and submitted with the form (see rule 82-3-3 and geologist well report shall be attached with this form. ALL CEMENTING aubmit CP-111 form with all temporarily abandoned wells.
all requirements of the statutes, rules and regulations promulgated to regula erein are complete and correct to the best of my knowledge.	te the oil and gas industry have been fully complied with and the statements
As NOIA	KCC Office Use ONLY
signature: Nomas A Fertal	Letter of Confidentiality Attached
itle: SR. GEOLOGIST Date: 5/16/2006	If Denied, Yes □ Date:
subscribed and sworn to before me this <u>16TH</u> day of <u>MAY</u>	, Wireline Log Received
006	Geologist Report Received
lotary Public: MISTO DI LONGOTANO	UIC Distribution
Date Commission Expires:	

My Commission Expires MAY 9, 2009

Operator Name: _S	SAMUEL GAR	RY JR & AS	SOCIAT	res, inc.		Leas	se Name: _	SCHE	PMANN-T	RUST	Well #:	1-27
Sec. <u>27</u> 1	Гwp. <u>17</u>	S. R	10	☐ Eas	st 🛛 West	t Cou	nty:	ELLS	WORTH			
INSTRUCTIONS: tool open and close and flow rates if gas Attach final geologis	d, flowing and to surface te	I shut-in press st, along with	sures, w	hether shu	ut-in pressi	ure reached s	tatic level, h	ydrosta	itic pressure	es, bottom hole t	emperature, flui	d recovery,
Drill Stem Tests Tal		⊠ Yes	3	□ No		☑ Log		Format	ion (Top), [	Depth and Datum	ı Top	☐ Sample
Sample Sent to Geo	ological Surve	y 🛛 Yes	5	□ No		Name TOPEKA					2608' 2862'	-768' -1022'
Cores Taken		☐ Yes	6	⊠ No		HEEBNER DOUGLAS BRN LIME		[i			2892' 2974'	-1052' -1134'
Electric Log Run (Submit Copy)		⊠ Yes	6	□ No		LANSING ARBUCKLI	Ē		KCC y 162		2990' 3323' 3426'	-1150' -1483'
List All E. Logs Run			ON						FIDEN			
				G RECOF		New or, surface, int	☑ Use		ion etc			
Purpose of string	Size Hole Drilled	Size Casin Set (in O.D	g V	/eight os./Ft.	Setting Depth	-	Type of Cement	Jioduct	# Sacks Used	Туре	and Percent A	dditives
SURFACE	12-1/4"	8-5/8"		28	424'	CLASS A			235	2% GEL & 3%	cc	
							0.47					
									,		,	
				ADD	ITIONAL C	CEMENTING/	SQUEEZE F	RECOF	RD	Г		
Purpose: Perforate Protect Cas Plug Back 1 Plug Off Zo	ro i	Depth Top Bo	ottom		Туре	of Cement	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	# Sa	acks Used	Тур	e and Percent A	dditives
	PERF	ORATION R	ECORD	– Bridge	Plugs Set/	Туре		A	cid. Fractur	re, Shot, Cement	, Squeeze Reco	
Shots per Foot	S	pecify Footag	e of Eac	h Interval	Perforated	d		(Amo	unt and Kin	d of Material Use	ed)	Depth
										KANS	RECE AS CORPORAT	VED ION COMMISSION
											MAY 1	2006
	· · · · · · · · · · · · · · · · · · ·				<del></del>						CONSERVATIO WICHITA	
TUBING RECORD		Size		Set At	Р	acker At	Liner Run		Yes	□ No		
Date of First, Resur	med Production	on, SWD or E	nhr.	Producir	ng Method		Flowing		Pumping	ı 🗍 Gas L	ift □ Oth	ner (Explain)
Estimated Producti Per 24 Hours	on	Oil I	Bbls.	Gas	M			bls.		Gas-Oil Ratio		Gravity
Disposition of Gas				l	-	METHOD (	OF COMPLE	TION				Production Interval
	] Sold	☐ Used o	on Lease	е	□ Оре	en Hole	☐ Perf.		Dually Com	np. 🔲 Com	mingled	
If vented, subm	nit ACO-18.)				☐ Oth	ner (Specify)						

Allied Cementing Co., Inc P.O. Box 31

Russell, KS 67665 KCC

MAY 1 6 2005

CONFIDENTIAInvoice Number: 100545

Invoice Date: 01/31/06

Sold Samuel Gary, Jr. & Assoc.

To:

% Larson Engineering, Inc. KANSAS CORPORATION COMMISSION

Olmitz, KS 67561-8561

MAY 17 2006

**CONSERVATION DIVISION** WICHITA, KS

Cust I.D....: Gary

P.O. Number..: Schepmann 1-27

P.O. Date...: 01/31/06

Due Date.: 03/02/06 Terms...: Net 30

Item I.D./Desc.	Qty. Used	Unit	Price	Net	ΤX
Common	235.00	SKS	8.7000	2044.50	T
Gel	5.00	SKS	14.0000	70.00	T
Chloride	7.00	SKS	38.0000	266.00	${ m T}$
Handling	247.00	SKS	1.6000	395.20	E
Mielage	26.00	MILE	14.8200	385.32	$\mathbf{E}$
247 sks @.06 pe	r sk per mi			·	
(Surface)	1.00	JOB	670.0000	670.00	$\mathbf{E}$
Mileage pmp trk	26.00	MILE	5.0000	130.00	$\mathbf{E}$
Extra Footage	127.00	PER	0.5500	69.85	$\mathbf{E}$
Plug	1.00	EACH	55.0000	55.00	$\mathbf{T}$
				-	

All Prices Are Net, Payable 30 Days Following Date of Invoice. 1 1/2% Charged Thereafter. If Account CURRENT take Discount of \$408.59 ONLY if paid within 30 days from Invoice Date Total...:

Subtotal: Tax...: Payments:

4085.87

153.44 0.00

COMP WO LOE



#### RECEIVED KANSAS CORPORATION COMMISSION

MAY 17 2006

## ALLIED CEMENTING CO., INC. 24113

Federal Tax I.D.#

REMIT TO P.O. BOX 31	SERVICE POINT:
RUSSELL, KANSAS 67665	elve at Bend
	1-30-06
DATE 1-39-06 SEC TWP. RANGE C	ALLED OUT ON LOCATION JOB STATE JOB FEATURE
LEASE SELLEPMANNELL# 1.27 LOCATION HAWY	+Holy Road BITP. County STATE Chows th K.S.
OLD OR NEW (Circle one)	N 34W 5/5
CONTRACTOR Patromark Rig 2	ONATED
CONTRACTOR	OWNER
TYPE OF JOB Surface	CUDACIONICO
HOLE SIZE 134 T.D. 430.44	CEMENT AMOUNT ORDERED 235 AR Common
CASING SIZE 28# 8% DEPTH 4274	AMOUNT ORDERED 2 20 AM (87/1/1/07)
TUBING SIZE DEPTH	3700220gel
DRILL PIPE DEPTH	
TOOL DEPTH	0.77
PRES. MAX MINIMUM	common 235 w. @ 8.70 2.044\$\$
MEAS. LINE SHOE JOINT	POZMIX@
CEMENT LEFT IN CSG. 15 H	GEL <u>5 W. @ 14.00 70.00</u>
PERFS.	CHLORIDE 7 14 @ 38.00 2660
DISPLACEMENT 25.2 864	ASC@
EQUIPMENT	@
EQUII MENI	@
MIL	@
PUMPTRUCK CEMENTER /// // 171	@
# 120 HELPER Rick H	<u> </u>
BULK TRUCK	@
# 341 DRIVER DON D	@
BULK TRUCK	@
# DRIVER	HANDLING 247A4. @ 1.60 395.20
	MILEAGE 247.44.06 26 385.32
REMARKS:	TOTAL 3161.02
REMARKS:	TOTAL STEPHICZ
Circulate Hole with Ring mud pur Mix Comont + Relies Blue	
Displace Phus Down With Wats	DEPTH OF IOB 427 ft

Allied Cementing Co., Inc P.O. Box 31

Russell, KS 67665

KCC

MAY 1 5 2006

Invoice Number: 100713

CONFIDENTIAL

Invoice Date: 02/10/06

153552

Sold Samuel Gary, Jr. & Assoc.
To: % Larson Engineering, Inc.

562 W. Highway #4

Olmitz, KS 67561-8561 RECEIVED KANSAS CORPORATION COMMISSION

MAY 17 2006

CONSERVATION DIVISION WICHITA, KS

Cust I.D....: Gary Schepman Tr 1-27

P.O. Number..: SchermanTR1-27

P.O. Date...: 02/10/06

Due Date.: 03/12/06 Terms...: Net 30

Item I.D./Desc.	Qty. Used	- Unit	Price	Net	TX
Common	108.00	SKS	8.7000	939.60	$\mathbf{T}^{-1}$
Pozmix	72.00	SKS	4.7000	338.40	${f T}$
Gel	9.00	SKS	14.0000	126.00	${\mathtt T}$
Handling	189.00	SKS	1.6000	302.40	${f T}$
Mileage	26.00	MILE	11.3400	294.84	${f T}$
<u>189 sks @</u> .06 pe	r sk per mi			•	
Rotary Plug)	1.00	JOB	750.0000	750.00	${f T}$
Mileage pmp trk	26.00	m, MILE	5.0000	130.00	${ m T}$

All Prices Are Net, Payable 30 Days Following Date of Invoice. 1 1/2% Charged Thereafter. If Account CURRENT take Discount of \$288.12 ONLY if paid within 30 days from Invoice Date

Subtotal:
Tax...:
Payments:
Total...:

181.52 0.00 3062.76

2881.24

2774.64

DALG COMP WO DLOE

ACCT # 135/72

APPROVED BY

7.C.



#### RECEIVED KANSAS CORPORATION COMMISSION

MAY 17 2006

## ALCOEDECEMENTINGO., INC. 24764

Federal Tax I.D.:

REMIT TO P.O. E	BOX 31	NIC A C 676	565		SERV	/ICE POINT: Read	L Rind
, , RUSS	SELL, KA	NSAS 676	003				
DATE 2:3-06	SEC.	TWP.	RANGE	CALLED OUT	ON LOCATION	JOB START	
5 hurmon trust	WELL#	1-30	LOCATION A	ay 4 + Holy	1 2000 cl 13/10 1	COUNTY	STATE
OLD OR NEW (C		12(		-3/Morest:			
OLD OIL THE WICE	-		100 x 2020				•
CONTRACTOR (			Delig	OWNER 5	an Cary	fri Clas	<del>)</del>
TYPE OF JOB	Ratery	Plug	21/20	CEMENT		,	
HOLE SIZE	7/18		0. 34 <i>30</i> EPTH		DERED <u>/8</u>	2 xx 60/4	0.1000 -
CASING SIZE			EPTH	- 20000	7		7 /
TUBING SIZE DRILL PIPE			EPTH	- Company			
TOOL			EPTH				0.70 (
PRES. MAX			INIMUM	COMMON	1084	_@ <i>_&amp;.70</i> _	
MEAS. LINE		SF	HOE JOINT	_ POZMIX	72 AU		338,40
CEMENT LEFT I	N CSG.			_ GEL	9 14		1260
PERFS.				CHLORIDE _			
DISPLACEMENT	Γ			ASC		_	-
	EQ	UIPMEN	$\mathbf{T}$			_ @	
PUMP TRUCK	CEMEN	TER 🕢	ack				
# 120	HELPE	2	60.			@	1
BULK TRUCK		V	_1			@	
# 342	DRIVE	₹ 5.	(224)			@	
BULK TRUCK	DDIVE					_ @	7.0.13
#	DRIVE	ζ		<ul><li>HANDLING_</li></ul>	18914	_ @ <u>_ 1.60</u> _	302.40
				MILEAGE	180/14 0	676	- 294.84
, , ,		EMARKS				TOTAL	Zaster4
1st pluga	3328	with	35 sy coment		arin ri		
Fried pluis a	1300'	conth	35-sx Coment		SERV	ICE	
37 deplug @	-975-	with	· 50-6-1 Come	ENTERONIA OTE 16	DD :		
4 th duy (a)	300		37 Dy CENERT		OB <u>33280</u> K CHARGE		7000
22/2/ (3)	(= ()	COTTIL	12-sy coment		TAGE		/50.63
Talenal	118 110	7.38632 0			26		13000
- dole of	3.20-6. CC	2,50 7.5 6; 65.	CI Diginales				-
						@	
						@	
CHARGE TO: 4	Sam	Corne	Pr. 4 ass.	,		, '	
		77				TOTA	L <i>880,9</i> 0
STREET			1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	overall Park			
CITY		STATE	ZIP	<u> </u>	PLUG & FLO	AT FOLLPME	NT
					The arbor		-
			•			@	
						@	
		Ţ.					
To Allied Ceme						@	
			cementing equipment			@	
			o assist owner or The above work wa	e e			• •
			on of owner agent or	•		TOTA	L
			and the "TERMS AN	ID .			
CONDITIONS				TAX			
00110110110		1010	<del></del>	TOTAL CHA	RGE		
			Λ	DISCOUNT		IF PA	AID IN 30 DAYS
<u></u>	7/		11:21-			1	
SIGNATURE	ille	enty/	WATEL	Ul, Ed	WAId. 1		28
				• · · · · · · · · · · · · · · · · · · ·	PRIN	TED NAME	